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(x -2y — 32)2 & 75 o] xof St WHAo 2 Aa]shH?

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972
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f(x) = (x+1)Q(x) + RolZL EOH
f(-1) =R
W f(Fl)=-1-2-3-4=-10
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@ 3 @ 1 ® -1 ®-2 @

S5 )
2x3 + ax® + bx+3 = (2x* - x - 3)Q(x)
= (x+1)(2x - 3)Q(x)

x=-19M, 2+a-b+3=0
Ta-b=-1---0Q

gmuﬂ,¥+§a+gb+3:0
27T+9a+6b+12=0
s 3a+2bh=-13---©
@, 0 °MMa=-3, b=-2
L a+b=(-3)+(-2)=-5
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F oA 2 +ax-2, 2 +3x+ b9 HPFLFT -1 I, T
a, b2 & a+b2 727

A4}k x - 10122 Z42te] Hof x = 18 Y3t 0o]
Hr.

14a-2=0,14+34+b=0° a=1, b=—-4
L a+b=-3




5. M ALFabcolHdtA a+b+c=2 a%>+b*+c*=6, abc = -1
Ao, a3+ b + 2 9 F2?

@1 o1 o601 @u 61

B ~

(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11
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Lo

Fx) = (ax+H)O(x) + R - R= f(—g)
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@ 2x-y-2)(x+y-1) @ 2x+y+2)(x—y—+1)
® (2x-y-2)(x-y-1) @ 2x+y-2)(x+y-1)
@(2x—|—y—2)(x—y—1)

)x— (% -y-2)
)x O+ -2)
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® x-3 @ x+3 ® x+2

(@)x—I—l

@ x-1

x=1)(x-3)(x+2)(x+3)=0
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